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Many people missed the fact that
there is a (2n-1) term in the
numerator which cancels with the
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Many people missed the fact that there is a (2n-1) term in the numerator which cancels with the (2n-1) term in the denominator.
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You can write series out
term by term here too.

out the general term for
full points.

You do not have to write | -

\ D ool
Q\S& G\g‘Q\ \DD

The answer 1-1/10 is also within
1/216 < 0.01 of the precise value.
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The answer 1-1/10 is also within 1/216 < 0.01 of the precise value.  
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You can write series out term by term here too. You do not have to write out the general term for full points. 




